SPEC.

SECTION SCHEDULE A - RAILROAD BRIDGE #6

1-09.7

0.00

0.00

0.00

0.00

0.00

0.00

0.00

SCHEDULE B - RAILROAD BRIDGE #12

1-09.7

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

MOBILIZATION

POST PILE

MOBILIZATION

TRAFFIC CONTROL

EROSION CONTROL

WORK AREA ISOLATION

REMOVE DRIFT BUILDUP

PLACE OR REPLACE SHIMS

REPLACE SHIM CAPS

REPLACE BENT CAP

REPLACE MISSING SPIKES AND TIE PLATES

APPLY TREATMENT TO DAPPED STRINGERS

REPLACE MISSING GIRT CONNECTION HARDWARE

FILL FASTENER AND INSPECTION HOLES WITH DECAY RESISTANT FOAM

TRAFFIC CONTROL

EROSION CONTROL

WORK AREA ISOLATION

PLACE OR REPLACE SHIMS

SEEDING AND MULCHING

REPLACE MISSING SPIKES AND TIE PLATES

BID ITEM

NO.

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BID TABULATION Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: Chelatchie Prairie Railroad Bridge Projects (Bridges 6, 12, 18, 20, 23, 25) Project Number: PRJ0002316 (PRJ0002493, PRJ0002494, A026303, A028802) Bid Opening Date: April 30, 2024

DESCRIPTION

			ENGINEER	'S ESTIMATE	BIDD	ER #1	BIDI	DER #2	BIDDER #3			
					8485 W Lakeville,	k Systems, LLC / 210 St. MN 55044 69-4907	20907 NE Battle Grou	ractors, LLC E 72nd Ave. nd, WA 98604 723-5295	Hamilton Construction Co. 2213 PO Box 659 Springfield, OR 97477-0121 (541) 746-2426			
	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE TOTAL PRICE		UNIT PRICE	TOTAL PRICE		
	L.S.	1	\$13,800.00	\$13,800.00	\$19,506.00	\$19,506.00	\$6,000.00	\$6,000.00	\$16,000.00	\$16,000.00		
	L.S.	1	\$4,000.00	\$4,000.00	\$9,941.00	\$9,941.00	\$10,000.00 \$10,000.00		\$15,000.00	\$15,000.00		
	L.S.	1	\$6,000.00	\$6,000.00	\$16,350.00	\$16,350.00	\$10,000.00 \$10,000.00		\$5,000.00	\$5,000.00		
	EACH	1	\$3,500.00	\$3,500.00	\$32,167.00	\$32,167.00	\$10,000.00 \$10,000.0		\$30,000.00	\$30,000.00		
	EACH	65	\$250.00	\$16,250.00	\$82.00	\$5,330.00	\$650.00	\$650.00 \$42,250.00		\$2,600.00		
	EACH	11	\$700.00	\$7,700.00	\$1,009.00	\$11,099.00	\$350.00 \$3,850.0		\$1,600.00	\$17,600.00		
	L.F.	50	\$2,000.00	\$100,000.00	\$669.00	\$33,450.00	\$250.00	\$12,500.00	\$1,250.00	\$62,500.00		
	L.S.	1	\$1,000.00	\$1,000.00	\$11,120.00	\$11,120.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00		
SCHEDULE A SUBTOTAL				\$152,250.00		\$138,963.00	\$99,600.00		\$163,700.00			
STATE SALES TAX at 8.50%				\$12,941.25	\$11,81			\$8,466.00	\$13,914.50			
SCHEDULE A TOTAL			-	\$165,191.25	,	\$150,774.86		\$108,066.00	•	\$177,614.50		
	L.S.	1	\$28,200.00	\$28,200.00	\$19,506.00	\$19,506.00	\$21,000.00	\$21,000.00	\$44,000.00	\$44,000.00		
	L.S.	1	\$4,000.00	\$4,000.00	\$12,947.00	\$12,947.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00		
	L.S.	1	\$7,000.00	\$7,000.00	\$16,091.00	\$16,091.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00		
	EACH	2	\$3,500.00	\$7,000.00	\$32,167.00	\$64,334.00	\$10,000.00 \$20,000.00		\$10,000.00	\$20,000.00		
	L.S.	1	\$1,000.00	\$1,000.00	\$10,654.00	\$10,654.00	\$5,000.00	\$5,000.00 \$5,000.00		\$5,000.00		
	EACH	10	\$250.00	\$2,500.00	\$108.00	\$1,080.00	\$650.00	\$6,500.00	\$40.00	\$400.00		
	EACH	20	\$150.00	\$3,000.00	\$157.00	\$3,140.00	\$350.00	\$7,000.00	\$50.00	\$1,000.00		
	L.S.	1	\$7,000.00	\$7,000.00	\$3,331.00	\$3,331.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00		
	EACH	29	\$700.00	\$20,300.00	\$670.00	\$19,430.00	\$350.00 \$10,150.00		\$1,600.00	\$46,400.00		
	EACH	1	\$400.00	\$400.00	\$526.00	\$526.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00		
	L.F.	20	\$200.00	\$4,000.00	\$371.00	\$7,420.00	\$350.00	\$7,000.00	\$1,000.00	\$20,000.00		

\$4,500.00

\$4,500.00

\$7,185.00

\$7,185.00

\$9,000.00

\$9,000.00

\$22,000.00

\$22,000.00

EACH

WASHINGTON STATE SA

BID TABULATION Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: Chelatchie Prairie Railroad Bridge Projects (Bridges 6, 12, 18, 20, 23, 25) **ENGINEER'S ESTIMATE** BIDDER #1 BIDDER #2 BIDDER #3 RailWorks Track Systems, LLC Lee Contractors, LLC Hamilton Construction Co. Project Number: PRJ0002316 (PRJ0002493, PRJ0002494, A026303, A028802) 8485 W 210 St. 20907 NE 72nd Ave. 2213 PO Box 659 Bid Opening Date: April 30, 2024 Lakeville, MN 55044 Battle Ground, WA 98604 Springfield, OR 97477-0121 (952) 469-4907 (360) 723-5295 (541) 746-2426 BID ITEM SPEC. DESCRIPTION UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE UNIT QUANTITY TOTAL PRICE UNIT PRICE UNIT PRICE TOTAL PRICE SECTION NO. POST PILE \$1,500.0 \$195,000.0 \$427.00 \$55,510.00 \$250.00 \$32,500.00 \$1,100.00 \$143,000.00 21 0.00 L.F. 130 22 INSTALL LOWER SASH BRACING L.F. 40 \$200.00 \$8,000.00 \$88.00 \$3,520.00 \$150.00 \$6,000.00 \$150.00 \$6,000.00 0.00 23 0.00 TIGHTEN PACKING BOLTS **EACH** 6 \$150.00 \$900.0 \$195.00 \$1,170.00 \$250.00 \$1,500.00 \$250.0 \$1,500.00 24 0.00 REPLACE BENT MUD SILL L.F. 14 \$1,200.00 \$16.800.00 \$804.00 \$11.256.00 \$250.00 \$3.500.00 \$1,600.00 \$22,400.00 25 0.00 RECONSTRUCT BACKWALLS AND WINGWALLS S.F. 275 \$250.00 \$68,750.00 \$163.00 \$44,825.00 \$250.00 \$68,750.00 \$250.00 \$68,750.00 26 0.00 SEEDING AND MULCHING L.S. \$1,000.00 \$1,000.0 \$11,699.00 \$11,699.00 \$5,000.00 \$5,000.00 \$20,000.00 \$20,000.00 1 SCHEDULE B SUBTOTAL \$379,350.00 \$293,624.00 \$240,900.00 \$445,950.00 WASHINGTON STATE SALES TAX at 8.60% \$32,624.10 \$25,251.66 \$20,717.40 \$38,351.70 SCHEDULE B TOTAL \$411.974.10 \$318.875.66 \$261,617.40 \$484,301.70 SCHEDULE C - RAILROAD BRIDGE #18 27 1-09.7 MOBILIZATION L.S. \$29,500.00 \$29.500.0 \$19.506.00 \$19.506.00 \$35,000,00 \$35,000,00 \$46.800.00 \$46.800.00 28 0.00 RAIL TRAFFIC CONTROL L.S. \$1,000.00 \$1,000.00 \$9,941.00 \$9,941.00 \$5,000.00 \$5,000.00 \$15,000.00 \$15,000.00 29 **EROSION CONTROL** L.S. \$7,000.00 \$7.000.00 \$10.660.00 \$10,660.00 \$10,000,00 \$10,000.00 \$5,000.00 \$5,000.00 0.00 1 30 0.00 WORK AREA ISOLATION **EACH** 2 \$3,000.00 \$6,000.0 \$32,167.00 \$64,334.00 \$10,000.00 \$20,000.00 \$30,000.00 \$60,000.00 31 53 0.00 REPLACE MISSING SPIKES AND TIE PLATES **EACH** \$250.00 \$13,250.0 \$56.00 \$2,968.00 \$650.00 \$34,450.00 \$40.00 \$2,120.00 32 0.00 REPLACING STRINGER PACKING BOLT HARDWARE AND LINE BOLT HARDWARE **EACH** 6 \$500.00 \$3,000.00 \$667.00 \$4.002.00 \$250.00 \$1,500.00 \$600.00 \$3,600.00 EACH 33 30 \$19,980.00 \$2,500.00 \$75,000.00 0.00 REPLACE ROTTED AND LOOSE TIES \$500.00 \$15,000.00 \$666.00 \$900.00 \$27,000.00 34 0.00 PLACE OR REPLACE SHIMS **EACH** 13 \$700.00 \$9,100.00 \$707.00 \$9.191.00 \$350.00 \$4.550.00 \$1,600.00 \$20.800.00 35 POST PILE L.F. 78 \$1,500.00 \$117,000.0 \$560.00 \$43,680.00 \$250.00 \$19,500.00 \$1,250.00 \$97,500.00 0.00 36 RECONSTRUCT BACKWALLS AND WINGWALLS S.F. 475 \$250.00 \$118,750.00 \$163.00 \$77,425.00 \$250.00 \$118,750.00 \$225.00 \$106,875.00 37 0.00 REPLACE BENT CAP **EACH** \$4,500.00 \$4,500.0 \$7,185.00 \$7,185.00 \$7,500.00 \$7,500.00 \$22,000.0 \$22,000.00 38 0.00 INSTALL INTERMEDIATE SILL **EACH** 1 \$4,000.00 \$4,000.00 \$11,650.00 \$11,650.00 \$6,500.00 \$6,500.00 \$22,000.00 \$22,000.00 L.F. 39 0.00 **INSTALL TOWER BRACES** 100 \$220.00 \$22,000.0 \$114.00 \$11,400.00 \$250.00 \$25,000.00 \$150.00 \$15,000.00 40 **INSTALL SWAY BRACES** L.F. 32 \$220.00 \$7,040.0 \$111.00 \$3,552.00 \$150.00 \$4,800.00 \$150.0 \$4,800.00 0.00 41 0.00 SEEDING AND MULCHING L.S. \$1,000.00 \$1,000.0 \$11,699.00 \$11,699.00 \$5,000.00 \$5,000.00 \$20,000.0 \$20,000.00 **SCHEDULE C SUBTOTAL** \$358,140.00 \$307,173.00 \$372,550.00 \$468,495.00 **WASHINGTON STATE SALES TAX at 7.80%** \$27,934.92 \$23,959.49 \$29,058.90 \$36,542.6 SCHEDULE C TOTAL \$386,074.92 \$331,132.49 \$401,608.90 \$505,037.61 SPEC.

SECTION

1-09.7

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

SCHEDULE E - RAILROAD BRIDGE #23

1-09.7

0.00

0.00

0.00

0.00

SCHEDULE D - RAILROAD BRIDGE #20

MOBILIZATION

RAIL TRAFFIC CONTROL

WORK AREA ISOLATION

REPLACE STRINGERS

REPLACE BENT CAP

INSTALL TOWER BRACES

SEEDING AND MULCHING

INSTALL SWAY BRACES

POST PILE

MOBILIZATION

RAIL TRAFFIC CONTROL

EROSION CONTROL

PLACE OR REPLACE SHIMS

REPLACE BENT MUD SILLS

REPLACE BENT MUD BLOCKS

REPLACE MISSING SPIKES AND TIE PLATES

RECONSTRUCT BACKWALLS AND WINGWALLS

REPLACE MISSING SPIKES AND TIE PLATES

REPLACE ROTTED AND LOOSE TIES, 15 ft

REPLACE ROTTED AND LOOSE TIES

EROSION CONTROL

BID ITEM

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

BID TABULATION Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: Chelatchie Prairie Railroad Bridge Projects (Bridges 6, 12, 18, 20, 23, 25)
Project Number: PRJ0002316 (PRJ0002493, PRJ0002494, A026303, A028802)
Bid Opening Date: April 30, 2024

DESCRIPTION

ESTIMATE	BIDD	ER #1	BIDE	DER #2	BIDDER #3 Hamilton Construction Co. 2213 PO Box 659 Springfield, OR 97477-0121 (541) 746-2426			
		k Systems, LLC		actors, LLC				
		/ 210 St. MN 55044		72nd Ave. nd, WA 98604				
		69-4907		723-5295				
TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE		
\$48,600.00	\$19,506.00	\$19,506.00	\$35,000.00	\$35,000.00	\$78,000.00	\$78,000.0		
\$1,000.00	\$9,941.00	\$9,941.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.0		
\$5,000.00	\$10,660.00	\$10,660.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.0		
\$3,500.00	\$39,986.00	\$39,986.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.0		
\$19,000.00	\$75.00	\$5,700.00	\$650.00	\$49,400.00	\$40.00	\$3,040.0		
\$11,900.00	\$659.00	\$11,203.00	\$100.00	\$1,700.00	\$1,600.00	\$27,200.0		
\$127,500.00	\$242.00	\$102,850.00	\$250.00	\$106,250.00	\$300.00	\$127,500.0		
\$47,450.00	\$924.00	\$67,452.00	\$250.00	\$18,250.00	\$1,700.00	\$124,100.0		
\$32,800.00	\$337.00	\$110,536.00	\$250.00	\$82,000.00	\$350.00	\$114,800.0		
\$75,000.00	\$396.00	\$19,800.00	\$150.00	\$7,500.00	\$1,250.00	\$62,500.0		
\$9,000.00	\$7,529.00	\$15,058.00	\$2,000.00	\$4,000.00	\$22,000.00	\$44,000.0		
\$33,000.00	\$84.00	\$12,600.00	\$150.00	\$22,500.00	\$175.00	\$26,250.0		
\$32,560.00	\$82.00	\$12,136.00	\$100.00	\$14,800.00	\$175.00	\$25,900.0		
\$87,500.00	\$188.00	\$65,800.00	\$150.00	\$52,500.00	\$225.00	\$78,750.0		
\$1,000.00	\$11,699.00	\$11,699.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.0		
\$534,810.00		\$514,927.00		\$423,900.00		\$782,040.0		
\$41,715.18		\$40,164.31		\$33,064.20		\$60,999.1		
\$576,525.18	•	\$555,091.31	•	\$456,964.20	•	\$843,039.1		
\$38,400.00	\$19,506.00	\$19,506.00	\$55,000.00	\$55,000.00	\$56,000.00	\$56,000.0		
\$2,000.00	\$9,941.00	\$9,941.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.0		
\$7,000.00	\$16,350.00	\$16,350.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.0		
\$32,750.00	\$85.00	\$11,135.00	\$550.00	\$72,050.00	\$40.00	\$5,240.0		
\$67,000.00	\$67,000.00 \$604.00 \$80,936.00		\$2,000.00	\$268,000.00	\$950.00	\$127,300.0		

131

134

20

ENGINEER'S

\$48,600.00

\$1,000.00

\$5,000.00

\$3,500.00

\$250.00

\$700.00

\$300.00

\$650.00

\$100.00

\$1,500.00

\$4,500.00

\$220.00

\$220.00

\$250.00

\$1,000.00

\$38,400.00

\$2,000.00

\$7,000.00

\$250.00

\$500.00

\$600.00

\$12,000.00

\$836.00

\$16,720.00

\$2,500.00

\$50,000.00

\$1,800.00

\$36,000.00

QUANTITY UNIT PRICE

UNIT

L.S.

L.S.

L.S.

EACH

EACH

EACH

L.F.

L.F.

L.F.

L.F.

EACH

L.F.

L.F.

S.F.

L.S.

L.S.

L.S.

L.S.

EACH

EACH

EACH

WASHINGTON STATE SALES TAX at 7.80%

SCHEDULE D SUBTOTAL

SCHEDULE D TOTAL

76

17

425

73

328

50

2

150

148

350

BID TABULATION Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: Chelatchie Prairie Railroad Bridge Projects (Bridges 6, 12, 18, 20, 23, 25) Project Number: PRJ0002316 (PRJ0002493, PRJ0002494, A026303, A028802) Bid Opening Date: April 30, 2024				ENGINEER'S ESTIMATE		BIDDER #1 RailWorks Track Systems, LLC 8485 W 210 St.		BIDDER #2 Lee Contractors, LLC 20907 NE 72nd Ave.		BIDDER #3 Hamilton Construction Co. 2213 PO Box 659		
Sid Opoling Suite. April 60, 2024							Lakeville, MN 55044		Battle Ground, WA 98604		Springfield, OR 97477-0121	
	07-0						(952) 4	69-4907	(360)	723-5295	(541) 7	46-2426
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
63	0.00	PLACE OR REPLACE SHIMS	EACH	5	\$700.00	\$3,500.00	\$1,744.00	\$8,720.00	\$350.00	\$1,750.00	\$1,600.00	\$8,000.00
64	0.00	INSTALL SWAY BRACES	L.F.	60	\$220.00	\$13,200.00	\$122.00	\$7,320.00	\$250.00	\$15,000.00	\$175.00	\$10,500.00
65	0.00	INSTALL GIRT BRACES	L.F.	256	\$220.00	\$56,320.00	\$100.00	\$25,600.00	\$250.00	\$64,000.00	\$85.00	\$21,760.00
66	0.00	REPLACE BENT MUD SILL	L.F.	50	\$1,200.00	\$60,000.00	\$1,024.00	\$51,200.00	\$350.00	\$17,500.00	\$1,700.00	\$85,000.00
67	0.00	REPLACE BENT MUD BLOCKS	L.F.	155	\$160.00	\$24,800.00	\$295.00	\$45,725.00	\$250.00	\$38,750.00	\$400.00	\$62,000.00
68	0.00	POST PILE	L.F.	66	\$1,500.00	\$99,000.00	\$484.00	\$31,944.00	\$300.00	\$19,800.00	\$1,250.00	\$82,500.00
69	0.00	REPLACE BENT CAP	E.A.	1	\$4,500.00	\$4,500.00	\$7,193.00	\$7,193.00	\$7,500.00	\$7,500.00	\$22,000.00	\$22,000.00
70	0.00	STABILIZE UNDERMINING	EACH	1	\$1,500.00	\$1,500.00	\$8,722.00	\$8,722.00	\$8,500.00	\$8,500.00	\$3,000.00	\$3,000.00
71	0.00	SEEDING AND MULCHING	L.S.	1	\$2,000.00	\$2,000.00	\$11,699.00	\$11,699.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00
		s	CHEDULE E	SUBTOTAL		\$423,970.00		\$352,711.00		\$637,850.00		\$552,300.00
WASHINGTON STATE SALES TAX at 7.80%				_	\$33,069.66		\$27,511.46		\$49,752.30		\$43,079.40	
			SCHEDU	LE E TOTAL		\$457,039.66		\$380,222.46		\$687,602.30		\$595,379.40
SCHEDULE F - RAILROAD BRIDGE #25												
72	1-09.7	MOBILIZATION	L.S.	1	\$5,900.00	\$5,900.00	\$19,506.00	\$19,506.00	\$6,000.00	\$6,000.00	\$10,900.00	\$10,900.00
73	0.00	RAIL TRAFFIC CONTROL	L.S.	1	\$2,000.00	\$2,000.00	\$9,941.00	\$9,941.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
74	0.00	EROSION CONTROL	L.S.	1	\$4,000.00	\$4,000.00	\$16,350.00	\$16,350.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
75	0.00	INSTALL BALLAST IN UNDERMINED AREAS	C.Y.	2	\$150.00	\$300.00	\$10,631.00	\$21,262.00	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00
76	0.00	REPLACE MISSING SPIKES AND TIE PLATES	EACH	10	\$250.00	\$2,500.00	\$208.00	\$2,080.00	\$350.00	\$3,500.00	\$40.00	\$400.00
77	0.00	REPLACE ROTTED AND LOOSE TIES	EACH	17	\$500.00	\$8,500.00	\$679.00	\$11,543.00	\$500.00	\$8,500.00	\$1,000.00	\$17,000.00
78	0.00	PLACE OR REPLACE SHIMS	EACH	2	\$700.00	\$1,400.00	\$1,472.00	\$2,944.00	\$150.00	\$300.00	\$1,600.00	\$3,200.00
79	0.00	REPLACE STRINGERS	L.F.	117	\$300.00	\$35,100.00	\$235.00	\$27,495.00	\$100.00	\$11,700.00	\$350.00	\$40,950.00
80	0.00	REPLACE MISSING BOLT HARDWARE	EACH	6	\$400.00	\$2,400.00	\$185.00	\$1,110.00	\$600.00	\$3,600.00	\$250.00	\$1,500.00
81	0.00	REMOVE EXCESSIVE VEGETATION	EACH	2	\$1,000.00	\$2,000.00	\$1,023.00	\$2,046.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
82	0.00	SEEDING AND MULCHING	L.S.	1	\$500.00	\$500.00	\$11,699.00	\$11,699.00	\$5,000.00	\$5,000.00	\$9,100.00	\$9,100.00
	SCHEDULE F SUBTOTAL					\$64,600.00		\$125,976.00		\$60,600.00		\$109,050.00
	WASHINGTON STATE SALES TAX at 7.80%				_	\$5,038.80		\$9,826.13		\$4,726.80		\$8,505.90
	SCHEDULE F TOTAL					\$69,638.80		\$135,802.13		\$65,326.80		\$117,555.90

BID TABULATION

Clark County Public Works - Engineering and Construction Division Clark County, Washington

Project Name: Chelatchie Prairie Railroad Bridge Projects (Bridges 6, 12, 18, 20, 23, 25)					ENGINEER'S ESTIMATE		BIDDER #1		BIDDER #2		BIDDER #3	
Project Number: PRJ0002316 (PRJ0002493, PRJ0002494, A026303, A028802)							RailWorks Track Systems, LLC 8485 W 210 St.		20907 NE 72nd Ave.		Hamilton Construction Co. 2213 PO Box 659	
Bid Opening Date: April 30, 2024												
							· · · · · · · · · · · · · · · · · · ·	MN 55044		nd, WA 98604		OR 97477-0121
DID 1771	0770						(952) 40	59-4907	(360) /	723-5295	(541) /	46-2426
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SCHEDULI	G- SLIDE F	REPAIR										
83	1-09.7	MOBILIZATION	L.S.	1	\$750.00	\$750.00	\$26,102.00	\$26,102.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
84	2-03	SLIDE EXCAVATION INCL. HAUL	C.Y.	40	\$125.00	\$5,000.00	\$1,309.00	\$52,360.00	\$500.00	\$20,000.00	\$625.00	\$25,000.00
	SCHEDULE G SUBTOTAL							\$78,462.00		\$25,000.00		\$27,500.00
	WASHINGTON STATE SALES TAX at 7.80%						_	\$6,120.04		\$1,950.00		\$2,145.00
	SCHEDULE G TOTAL							\$84,582.04		\$26,950.00		\$29,645.00
TOTAL BID						\$2,072,642.41 \$1,956,480.94		\$2,008,135.60		\$2,752,573.23		
% OVER OR UNDER ENGINEERS ESTIMATE							-5.6	60%	-3.	.11%	32	81%
Bids have	Bids have been reviewed for accuracy, unbalancing of bid items, and tabulations checked.						Construction	n Engineer	Date:	05/02/24		
Dias nave		ou for according, annual and got six from a full tubulations directed.	er Jim	Title:	Construction	ni Enginooi	Duic.					